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a— k| it FEfk | PSR (kg) 24 (M) il i el O (BAL)
Y3002 =74 (%) 381 25, 488 972 864 162 | BH 38kg
Y3007 KA4PT 5 540 540 540 540 | B 11l
31200 (LEE 1 151 20 22 22 | B TR
31700 ¥ ¥~ : 60 3, 564 648 648 432 | B 64— A
31800 XD NAE 4 1,307 59 59 59 | BN 22
31800 I HNAH 13 8, 165 135 135 119 | BN 6348
31900 #X 5 540 108 108 108 | BN 5kg
36800 6o X x 9 20 7,597 486 486 108 | B 20kg
34400 k- b 44 12, 442 302 281 281 | B 44kg
34460 I =L F L 1 518 173 173 173 | BN 3y
34460 I=LtF & _ 2 1,188 119 119 119 | BH 104%
34100 #K ' 6 - 1,62 54 54 54| B 304
34200 I 28 3, 639 132 132 132 | B 28kg
36260 |2 LWp7=h 420 2,268 108 108 108 | B 2148
36260 (T L= B 300 1, 620 108 108 108 | 5 1548
36600 7-FhX 60 5, 832 97 97 97 | B 60kg
34764 A—N KTy 149 53,017 140 140 65 | &M 4964
34930 LA v I T s 28,318 130 65 19BN 349K
46108 X MEONEE 13 12, 614 302 302 281 | B 43,8y 7
721011 A7 L—3 55, 134 70 54 38| BN 1, 0304
71030 RFI&F 1 648 32 32 32BN - 2074
71032 FI&F (FR) 2, 840 49 49 32BN 704
71050 &fAE 54 11 11 115K 54
71090 A X —F = ' 648 32 32 32| BN 204
21120 75945 A 162 | . 27 27 27 BN 6
71150 | LiE : : 551 32 32 321 BH 175
71286 sm—AL 1 e 7,182 108 76 76BN 85K
71310 HAHL . 54 5 5 5 BN 104
Y5010 DbAE (&) 16 5,978 432 432 270 | BN 16kg
30100 WA 2L | 40 6,912 1,728 1,728 L 728 fERE  d4r—=
30100 W A 2 L 10 1, 296 130 130 130 |EEIR B LOAR
30300 A% 2L 80 10, 962 1, 404 1, 350 1, 350 |REA 84—
30300 A% L 50 8,100 1,620 1, 620 1,620 |BEA 54—
31100 A3 30 540 324 324 216 | B I 247 — R
31100 H3E 45 1,134 378 378 378 |EEIR B 3 — 2R
33810 FEX || |12 a212|  1,404] 1,404 1404 ERE  3r—=
33810 HHEE 4 1, 296 65| 65 65 | FEVE 5 2043
31700 F vy 240 6,026 324 238 216 | E s 244 —
31700 ¥y 300 5184, 1,728 1,798 L 798|V 3Hr—=
31730 7 U —rR—n 30 1,836 864 864 432 IR B 34—
31800 1FS5NAHE _ 4 2, 160 108 108 108 | FE IR & 204%
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fh Wik B i H
a—F g Stk | PER (kg) &% (F) il o el PE (BAL)
31950 H#AX 2 L 6 2,106 1, 080 1, 080 1,026 FEVR & =23
31900 ¥ L 10 4,536 324 216 216 |BER S 207 (500g)
32800 125 R 5| 1,782 36 36 36 | K4y 503
34300 729 50 7,884 1, 080 864 324 |BE 107 — R
34400 k=~ k 22 9, 655 162 130 130 | HE 232 7
34400 b= b M 24 9,072 1,512 1,512 1,512 | R B 64— A
34460 =L F k& 15 3, 456 864 648 648 | B I 5 —2A
34460 I=LF E M 10 4,018 97 97 65 | FEVL 5 48,3y 7
Y3058 #HER~F | | | 9 2,052 756 648 648 | VLB 34—
34100  #K 10 3,024 1,512 1,512 1,512 | IR G 2r—2A
34100 #AJK 2L ~ 20 5,184 1,296 1,296 1,296 | VL& 4r — A
34100 K B M 100 2,160 1,080 1,080 1,080 2r—A
34500 E—<w v 58 15, 768 65 32 28 | B 3804%
34500 E—= 2L 10 1, 296 130 130 130 | B I 10kg
34500 E—<v L 12 2, 592 22 22 22 |EIRE 12048
34520 FE—=< M 4 1,296 648 648 648 |FEIE 5 24— R
34571 X7V A (FR) 2 1, 080 108 108 108 | & [E 10{&
34572 XU K () 20 . 1, 080 108 108 108 | 8% [E 101
36600 7—ERE 2L 100 4, 536 1,080 864 864 |1£H 54— 2
37200 | L x 5 A 8 2,916 1, 458 1, 458 1,458 | [E 27 —A
33600 /<t Y 1 821 324 324 227 | & 348
33300 Fmyal— 18 3,996 86 86 32 | HEAR 601
38100 A LW =iF 10 3, 888 43 43 32 | B IR 10073y 7
31500 /a3 12 3, 456 65 54 54 |FEIRE 604%
32500  A2IE 2 ‘ 864 54 54 32 | K4y 203
37560 BBIX 1 2,354 281 216 216 | K4y 1073y 7
38400 XD XE 6 2,333 39 39 39 | 6045
42320 YafId— K 20 11, 232 5,616 5,616 5,616 | HF % 24— R
Y4017 H 5T 10 3, 564 3, 564 3, 564 3,564 | F 17 —=
45000 5E5 2 454 65 65 65| FY  15vs |
46108 S MIDOMNEE C i 1 486 162 162 162 |BIRE 3%y 7Y
Y4010 /NEFTVN 4 1, 080 540 540 540 | 1% 21H
47460 X8 Y A 3 1, 404 281 281 281 | Ry 5
47470 NrE Ay 3S 7 950 43 43 43 | R 221#
Y4007 T—AF XA : 20 14, 256 3, 564 3, 564 3,564 | =2 —— 47 —R
] 7Y K
&t 2, 369 430, 018
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